
Option Parts   改裝零件

0010323A-1

0010323-1

Front Upper Susp. Arm Adjustment 

Screw M6×28-Nickel 2pcs

前上擺臂調整螺絲-鍍鎳 

M6×28 2pcs

Front Upper Susp. Arm Adjustment 

Screw-Titanium M6×28 2pcs

前上擺臂調整螺絲-鈦合金

M6×28 2pcs


